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For each question from 1 fo 28, four options are given. One of them is the comrect
-answer. Make your choice (1, 2, 3 or 4). Shade the comect oval (1, 2, 3 or 4) on the
Optical Answer Shest (OAS). {56 marks)

1 Asnail hides itself In its shell when touched.

This shows that the snail is a living thing because it can

(1) grow
(2) breathe
{4) uce

2  Which of the animals shown below is not an insect?

@ (2)
@) @
%

{Go on fo the next page)
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3  Study the classification chart below.

| Plants
! |
X Y
| i
rose moss
hibiscus bird's nestfern
What would a suitable heading for X and Y be?
X Y
()|  cannot make its own food can make its own food
(2) can maks its own food cannot make its own food
(3) flowering plants non-flowsring planis |
4) non<flowering plants flowering plants |

4  Which of the following statements is correct about all bacteria?

&)
(@)
)
(4}

5  Which of the following is true about most amphiblans?

(1)
()
(3)
@

They cause ilinesses.
They are microscopic.

‘They are non-living things.
They make their own food.

They have wings.
They give birth fo young alive.

They can live on land and in water.
They have scales as their outer covering.

{(Goon fo the next page}
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8  Jeremy made the following observations on the life cycle of an animal.

¢ The young looks like the adult
There are 3 stages in its life cycle.

Which animal was Jeremy likely to have observed?

(1) frog
(2)  butterfy

(3)  mosquito
{(4) grasshopper

7 vwsnhcwuu;ﬁukmungnqpnuuuﬁsaﬁaa&:qwmanfatnmmm?
egg .(2}
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(Go on fo the next page)
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8 The diagram below shows the growth of a young plant with two missing stages A

and B.
-G

Stage A Stage B

Which one of the following shows the correct stages for A and B?

StageA | Stage B

o G

3

4)

g8 The diagram below shows a plant. .

The leaf helps the plant fo

(1) make food

(2} grow uptight
(3) absort water
(4) anchor to the soll

{Go on io the next page)
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10 Study the diagram below. X and Y represent substances that move from the small
intestine to different parts of the body.

X Y
blood €ww———r0  smallintestine —————> large intestine

Whatdo X and Y represent in the above diagram?

X Y

() digested food " digested food
3 undigested food digested food
(4) digested food undigestsd food

~ 11 Which human system protects the lungs and heast in our body?

eh

(@) “

{Go on fo the next page)
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12

13

Study the classification table below.

8 T U
fracing paper milk carfon glass window
frosted glass textbook spectacles fens

The objects above have been dlassified according to their

(1) strength

(2) flexibility

(3)  transparency

(4) ability to absory water

Four balls made of materials, A, B, C and D, were placed in a beaker of water as
showr below.

water

Which of the materials will be most suitable for making a lifebuoy?

1y A
2y B
3 C
4 D

(Go on fo the next page)
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14 Which one of the following objects can be bent easily without breaking?

(1) aglass sheet {2) aceramic spoon

(3) awooden nuler {4) a fabric towel

18

mmmmmmmwmmmmbem

{1) air cannot be compressed

{2) akﬁzme:mtalmwm

(3) water doss not have a definile shape
{4) water does not have a definite volume

{Go an lo the next page)
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16 Which of the foliowing item(s) makes use of magnets fo work?

17

A compass
B storybook
C canned drink

{1) Aonly

{(2) Aand Conly
(3) BandConly
4y A, BandC

Kieran wants to measure the volume of a § g marble.

Which apparatus should he use for to measurs the volume accurately?

(1)
mil} —
®) - @ <
L .
3 -
E e
“;f"‘” - W - -
Eﬁ B
Eso
]
& |
{(Go on to the next pags)
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18 Which of the following similarities is comrect for both air and a pencil?

{1} Theytake up space.

{2) They do not have mass,
(3) They have fixed volumes.
{4) They have definite shapes,

18  Using the stroking method, two iron bars are made info temporary magnets uslng
- eitherone oﬂm magnets as shown in the diagrams below,

magmtm:gmmagnet

Diagram 2: Using two magnets

Which one of the following correctly shows the poles at A and B in Diagram 27

A B
(1) N-pole ~ Nepole
@ Npde |  Spoe
@ |  Spos S-pole
9

{Go on to the next page)
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20 Inwhich arrangemert will allthe magnets pull fowards each othe

(3}

21 Bars X, Y and Z were hung equal distance from each other as shbwn.

When bar X was slightly pushed, the observation below was made.

S

Which staternents are possibly correct?

{2

X

Y

O m>»

AN

X

pA

All three bars are magnets,

Bars X and Z are magnets while bar Y is magnetic.

Bar Y is a magnet while X and Z are non-magnetic.

Bar X is non-magnetic, Y Is magneticand Zis a magnet.

{1) AandBonly
(3) Cand Donly

(2) Band Conly
{4 AandDonly
10
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22 Thres different sheets of material, X, ¥ and Z, are individually placed between a
light source and a fight sensor as shown.

- f
um—1 | ﬂ
torch material light sensor
The amount of light detected by the light sensor is shown in the table below.

Material | Amount of light detected {unit)
Y 120
2z 1 | 0

Which of the following statements is correct?

(1)  Material Z Is opague.
{(3) Material Z allows most fight to pass through.
(4) . Material Y allows more light to pass through i than material X,

23 (@alen set up an experiment as shown below.

U | O

M

Which of the following shadows would be formed on the screen?

m [ @
B .

e @

"

(Go on to the next page)
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24 Look at the picture below.

Which of the following explains why the boy can see the fruit in a dark room?

ey, _dlirection of fight

(1) | @

(3} (4)

12
‘ {Go on to the next page)
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25 Jia Ming wants to measure the temperature of water ina beaker.

Which of the following diagrams shows the correct position of the thermometer
when taking the temperature reading?

0 @

® @

28 Two idenfical cups were filled with equal amount of water at different

temperatures. Wmmeaﬁmmmmamma the temperature
of water in B was measured

ae oc s ‘ e o SR V

wammwmmmmmamwmmmm
A was poured into cup B?

h so°c
@ 60
3) 80°C
4 110°C

13
(Go on to the next page)
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27 Which one of the following Is a source of heat?

{1) theSun

(2) aswealsr

{3} awoollencap
(4} awooden block

28 Michael heated a beaker of water using a Bunsen burner as shown, He recorded
the change In {emperature of the water over a period of time in the graph below.

%

beaker .. 'ﬁ

+ time (min)

During the time the water was heated, Michael removed the Bunsen burmer for
a short while before he continued heating it.

At which point on the graph was the Bunsen bumer removed?

(1) A
2y B
3y C
4y D
End of Booklet A
14
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For questions 29 to 40, writs your answers in this booklet. The number of marks
available is shown in brackets { ] at the end of each question or part question.

{44 marks)

28 Philip wanted to observe how caterpillars grow. He placed two caterpillars with
saveral lsaves for the caterpillars o feed on In an uncovered container.

caterpillar

{a) mam@mwwmmdmmmmmmm
dacrease or remain the same? 1)

{b) Based on the sel-up above, state one thing thet the caterpillars need fo
survive. i

{6) To ensure the survivel of the caterpiliars, MMMWI&empof
the container. Give a reason why. : . L]

. (@cwwmmmi
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30 Study the flowchart below.

Animal

. A

Does it lay sggs?
I Yes
Does it have 3 body | No Does it have No
parts? feathers?

h 4

Yes
O,
(a)  Which animal group does A and B belong to? [21
Animat A :
Animal B :
(by State one similarity between animals B and C. [}

(¢}  Siti concluded that animal C is not a cat. Based on the fiowchart, sxplain
how Sifi came to this conclusion. il

BP-~753

(Go on to the next page)
2
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; 31 The diagram below shows the stages in the life tycle of a cockroach.
{a) Name stage P. m
(b) Which animal has the same number of stages as the life cycle of a
cockroach? Tick (v) the correct box{es). Ml
{c) memmmmmmaamaymmﬁfe cycle
of a cockroach, | 4]
(d)  Whydo living things undergo iifa cycies? 1
3
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32 Maria placed two plants, A and B, in the soil as shown. The roots of plant A were
sut off but not plant B. She watered both plants with the same amount of water
dally for four weeks.

Plant A ' Plant B

(a)  Name the plant part which keeps the plant upright. [}

(by  Which plant, A or B, will grow healthier after four weeks? Explain your
answer. (2}

T ettt . e srrmreeeee st

{(Go on to the next pages)

4
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33 Thediagram below shows the hurhan digestive system. A, B, C and D are different

m ﬁfﬂ!a tia‘s{;x D

(a) Identiythe part where [
@ digestionis teted ;
. {9 m&mm‘ z

{b} Name the partinside A that chews food into smaller pieces. ]

{c) State the function of part D of the digestive system. ]

i
i
»-n

(Go on fo the next page)
5
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34 The table below shows the properties of materials P, QandR.

Material ﬁia;zggﬂgﬁt o Broaks sasily w;?:j‘&sbézﬁﬁm
— - — g@,

, - ~ . = =
';&0 s - "

(a) Based on the table above, what materials are Q and R likelyto be?  [2]
Fill in Q and R in the table below. |

Material

ceramic

rubber

The picturs below shows a milk botile. The markings outside the mi&k bottle allows
the user to see the volume of the milk in the bottle.

(b} Which mas"eri‘at; P, Qor R, is most suitable to make part X of a milk botile?
Explain your answer. | {21

(Goon to the nexf page)
6
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‘Doesithavea Yes Doesithavea | Yes _@

(a) identify the state of mattor for letters X and Z. il

X:

Z:

{b) Siste one difference between Y and Z. Mm

o) i

podmaveusatsbmion PRy v
- nA

, (Go on o the next page)
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36

Jane wants to investigate how the number of strokes on an iron rod affects its
magnetism. She siroked two similar iron rods, P and Q, with the same magnet as
shown in the figure below.

10 strokes

Both rads became magnets and were used fo attract lron pins. She then held the
rods above two trays of iron pins as shown,

mdp' RodQ 70
[Ii~§/ililf m %

(a} Circle the correct answer below. [1}

Rod P attracted
{ less ping than / the same number of pins as / more pins than jrod Q,

(b} Explaln your answer In (a). [1}

{¢}) Toensure a fair test, which variablos need to remain the same? 121
Tick (V') the corract boxes.

number of strokes by the magnet

direction of strokes by the magnet

distance between the iron rod and pins

number of pins attracted by the iron rcds

e
-8 (Go on fo the next page)
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37 Mizah set up an experiment shown below, A shadow of the wooden block was
cast on the screen when she tumed on the lamp. The height of the shadow was
recorded,

—

- wooden block | screen

Mizah repeated the expsriment with different distance X by shifling the position of
the wooden block. The table below shows her results,

mxtm 5 | 10| 18] 20| 28
Helght of shadow {cm) 3 | 30 | 28 | 20 ?

(&) mmmmmmammmmmdm
¥ and the height of the shadow? 11

{h) What s the height of the shadow when distance X Is 25 cm? i

(¢)  Mizah repiaced the wooden biock with a similar sized plece of frosted glass.
wa;as;mmmmaxpmw. m

o
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38 Maranne conducted an experiment using the set-up below. The flask was filled
with air. .

warm cloth

flask

ratort stand

I o ’
tT‘?:D
i

Marianne wrapped the flask with a warm cloth. She noticed that the water level in.
the glass tube moved from Afo B.

(a)  Explain why the water level moved from A fo B. [2]

(b}  After 2 hours, what will happen fo the water level in the glass tube at B?
Explain why. | 2]

(Goon {oext pae}

10
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39  Frank filled a beaker with water as shown in the diagram.

1 water
retort stand

heat source

| (a)  Fillin the blanks using the corract words in the box. 2]

{#)  The beaker of water is put in the freezer, After some time, the water will
change its state {0 become

| -}u‘

1" '
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Then, Frank carried out an Investigation with 2 containers of the same size but
made of different materials, A and B. Hs filled ¢ach container with the same

volume of kot water and left them on the table.

He measured the temperature of the water every minute and plotted the results

in the graph below.,

temperature (°C)

~=> time (min})

{b) Based on the information above, put a tick (v} in the correct boxes. 2}

poured into a cup made of material B.

. .' B I | ”“Notpbssib{e
Statement | Trus | False to tall
| Material A [s a poorer conductor of heat
thar material B.
Cold water will stay cold longer when

12
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40 Ame&a%baﬁwashamnwaﬁamaterwmm&saadmeﬁm&mmm
a container of water at room temperature.

- metal ball

f g A At g

'»,a

(a)  Whatis the temperature of the water shown on the thermometer?  [1]

{b) b of the water changed when the ball was

|

{c) am@nmmmmmmmmwmmmw 1

End of Bookiet B

13
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SCHOOL : MARIS STELLA PRIMARY SCHOOL
LEVEL PRIMARY 4

SUBJECT : SCIENCE

TERM : 2022 SA2

SECTION A

Section B

Q29) a) htwill decrease.
b) Food _
c) Caterpillars need air to survive.

Q30) a) Animal A Insects Animal B : Birds
b) Both lay eggs
c) A catis a mammal and does not lay eggs.

1 Q31) a} Nymph

b} Chicken and grasshopper

¢) Butterfly has four-stage life cycle while a cockroach has three-stage
life cycle.

d} This is to allow continuity of its kind.

Q32) a) Stem
b) B. It has roots to absorb water. Plant A does not have roots. Sot

cannot grow healthier.
Q33) ay hc iD
b} Teeth

¢} Take in water from the undigested food

Pgl
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Q34) a) Ceramic > R Rubber > Q
b) P. As itis the only one that allows light to pass through and the
user can see the bottle easily and does not break easily.
Q35) a) X:Gas Z:Solid
b) Y does not have a definite shape but Z has a definite shape.
c) X
Q36) a) Less pins than
b) The more number of strokes on the magnet, the stronger the
magnetism it has.
c) Direction of strokes by the magnet
Distance between the iron rod and pins
Q37) a) The longer the distance X increases, the height of the shadow
decreases.
b) 15cm
c) Yes. The frosted glass can block some light)
Q38) a) The air expanded and air occupies space pushing the water.
b) The water level will go up. Air in the flask Iost heat to the
surrounding and contracted.
Q39) a) |) decreases ii) solid
b) True
False
Q40) a) 54°C

b) The metal ball lost heat to the water.
c) A hotter object will lose heat to a colder object.
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